



# Communications in Nonlinear Analysis

Publisher

Research & Science Group Ltd.



## Some $L_P$ – Type Inequalities for Polar Derivative of a polynomial

Irfan Ahmad Wani\*, Mohammad Ibrahim Mir, Jamina Banoo

*Department of Mathematics, University of Kashmir, South Campus, Anantnag 192101, Jammu and Kashmir, India*

### Abstract

In this paper, we shall prove some  $L^p$  inequalities for the polar derivative of a polynomial having zeros in  $|z| \leq k \leq 1$  and thereby obtain generalizations and refinements of an integral inequality due to Barchand Charam et al.

**Keywords:** Polynomial, polar derivative, Integral mean inequalities.

**2010 MSC:** 30A10, 30C15

### 1. Introduction

Let  $\mathcal{P}_n$  denote the space of all algebraic polynomials of the form  $P(z) = \sum_{\nu=0}^n a_\nu z^\nu$  of degree  $n$  and let  $P'(z)$  be its derivative. The study of inequalities for different norms of derivatives of a univariate complex polynomial in terms of the polynomial norm is a classical topic in analysis. A classical inequality that provides an estimate to the size of the derivative of a given polynomial on the unit disk, relative to size of the polynomial itself on the same disk is the famous Bernstein inequality [6]. It states that: if  $P(z)$  is a polynomial of degree  $n$ , then on  $|z| = 1$ ,

$$\max_{|z|=1} |P'(z)| \leq n \max_{|z|=1} |P(z)| \quad (1.1)$$

Equality holds in (1) iff  $P(z)$  has all its zeros at the origin. Concerning the estimation of the lower bound of  $\operatorname{Re} \left( \frac{zP'(z)}{P(z)} \right)$  on  $|z| = 1$ , Dubinin[7] proved the following result.

**Theorem 1.1:** If  $P \in \mathcal{P}_n$  having all its zeros in  $|z| \leq 1$ , then for all  $z$  on  $|z| = 1$  for which  $P(z) \neq 0$

\*Corresponding author

Email addresses: [irfanmushtaq62@gmail.com](mailto:irfanmushtaq62@gmail.com) (Irfan Ahmad Wani), [ibrahimmath80@gmail.com](mailto:ibrahimmath80@gmail.com) (Mohammad Ibrahim Mir), [jaminabanoo786@gmail.com](mailto:jaminabanoo786@gmail.com) (Jamina Banoo)

Received 2022-09-25

$$\operatorname{Re}\left(\frac{zP'(z)}{P(z)}\right) \geq \frac{n}{2}\left(1 + \frac{1}{n}\left(\frac{|a_n| - |a_0|}{|a_n| + |a_0|}\right)\right). \quad (1.2)$$

As a generalization of Theorem 1.1, N. A. Rather et al [11] have proved the following result.

**Theorem 1.2:** If  $P \in \mathcal{P}_n$  having all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , then for all  $z$  on  $|z| = 1$  for which  $P(z) \neq 0$

$$\operatorname{Re}\left(\frac{zP'(z)}{P(z)}\right) \geq \frac{n}{1+k}\left(1 + \frac{k}{n}\left(\frac{k^n|a_n| - |a_0|}{k^n|a_n| + |a_0|}\right)\right). \quad (1.3)$$

Also concerning the maximum of  $|P'(z)|$  in terms of maximum of  $|P(z)|$  on  $|z| = 1$ , Turán [12] showed that if  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{2} \max_{|z|=1} |P(z)|. \quad (1.4)$$

Equality in inequality (4) holds for those polynomials  $P \in \mathcal{P}_n$  which have all their zeros on  $|z| = 1$ . Dubinin [7] used the boundary Schwarz lemma due to Osseman [10] to obtain an interesting refinement of (4), in fact, proved that if all the zeros of  $P \in \mathcal{P}_n$  lie in  $|z| \leq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{2}\left(1 + \frac{1}{n}\left(\frac{|a_n| - |a_0|}{|a_n| + |a_0|}\right)\right) \max_{|z|=1} |P(z)|. \quad (1.5)$$

As a generalization of inequality (4) Malik [8] proved the following result.

**Theorem 1.3:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{1+k} \max_{|z|=1} |P(z)| \quad (1.6)$$

the result is sharp and best possible for  $P(z) = (z + k)^n$ . It is natural to look for a similar refinement of inequality (6), as the Dubinin [7] refined the inequality (5). In this direction N.A. Rather et al [11] proved the result which is refinement of inequality (6) and generalization of inequality (5). Infact, they proved

**Theorem 1.4:** If  $P(z) = z^s(a_0 + a_1z + \cdots + a_{n-s}z^{n-s}) \in \mathcal{P}_n$ ,  $0 \leq s \leq n$ , has all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{1+k}\left(1 + \frac{k}{n}\left(s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|}\right)\right) \max_{|z|=1} |P(z)|. \quad (1.7)$$

The result is sharp and equality holds for  $P(z) = z^s(z + k)^{n-s}$ ,  $s < n$ . On setting  $s = 0$  in Theorem 1.4 they proved the following result,

**Corollary 1.5:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{1+k}\left(1 + \frac{k}{n}\left(\frac{k^n|a_n| - |a_0|}{k^n|a_n| + |a_0|}\right)\right) \max_{|z|=1} |P(z)|. \quad (1.8)$$

The result is sharp and equality holds for  $P(z) = (z + k)^n$ .

The polar derivative  $D_\alpha P(z)$  of  $P \in \mathcal{P}_n$  with respect to the point  $\alpha \in \mathbb{C}$  is defined by

$$D_\alpha P(z) := nP(z) + (\alpha - z)P'(z).$$

The polynomial  $D_\alpha P(z)$  is of degree at most  $n - 1$  and it generalizes the ordinary derivative  $P'(z)$  of  $P(z)$  in the sense that

$$\lim_{\alpha \rightarrow \infty} \frac{D_\alpha P(z)}{\alpha} = P'(z) \quad (1.9)$$

uniformly for  $|z| \leq R, R > 0$ .

A.Aziz [1] and Aziz and Rather[2] obtained several estimates for maximum modulus of  $D_\alpha P(z)$  on  $|z| = 1$  and among other thing, they [3] extended inequality (6) to the polar derivative. Infact, they proved

**Theorem 1.6:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq k$ ,

$$\max_{|z|=1} |D_\alpha P(z)| \geq n \frac{|\alpha| - k}{1 + k} \max_{|z|=1} |P(z)|. \quad (1.10)$$

The result is sharp and best possible for  $P(z) = (z+k)^n$ . with  $|\alpha| \geq k$ . Next N. A. Rather et al [11] establish the following refinement of inequality (10). Infact, they proved

**Theorem 1.7:** If  $P(z) = z^s(a_0 + a_1z + \cdots + a_{n-s}z^{n-s}) \in \mathcal{P}_n$ ,  $0 \leq s \leq n$ , has all its zeros in  $|z| \leq k, k \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq k$ ,

$$\max_{|z|=1} |D_\alpha P(z)| \geq n \frac{|\alpha| - k}{1 + k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right) \max_{|z|=1} |P(z)|. \quad (1.11)$$

The result is sharp and equality holds for  $P(z) = z^s(z+k)^{n-s}$ ,  $s < n$ , with  $|\alpha| \geq k$ . On setting  $s = 0$  in Theorem 1.7 they proved the following result,

**Corollary 1.8:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq k$ ,

$$\max_{|z|=1} |D_\alpha P(z)| \geq n \frac{|\alpha| - k}{1 + k} \left( 1 + \frac{k}{n} \left( \frac{k^n|a_n| - |a_0|}{k^n|a_n| + |a_0|} \right) \right) \max_{|z|=1} |P(z)|. \quad (1.12)$$

The result is sharp and equality holds for  $P(z) = (z+k)^n$ , with  $|\alpha| \geq k$ . Recently Barchand Charam et-al [5] extended inequality (5) to its integral analogous for polar derivative of a polynomial. Infact, they proved

**Theorem 1.9:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq 1$ , and  $p > 0$

$$\left\{ \int_0^{2\pi} |D_\alpha P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}} \geq \frac{n(|\alpha| - 1)}{2} \left( 1 + \frac{1}{n} \left( \frac{|a_n| - |a_0|}{|a_n| + |a_0|} \right) \right) \times \left\{ \int_0^{2\pi} |P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}}. \quad (1.13)$$

In the same they proved more generalized result,

**Theorem 1.10:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq 1$ ,  $0 \leq t < 1$  and  $p > 0$

$$\left\{ \int_0^{2\pi} (|D_\alpha P(e^{i\theta})| - mnt|\alpha|)^p d\theta \right\}^{\frac{1}{p}} \geq \frac{n(|\alpha| - 1)}{2} \left( 1 + \frac{1}{n} \left( \frac{|a_n| - tm - |a_0|}{|a_n| - tm + |a_0|} \right) \right) \times \left\{ \int_0^{2\pi} (|P(e^{i\theta}) - tm|^p d\theta \right\}^{\frac{1}{p}}. \quad (1.14)$$

where  $m = \min_{|z|=1} P(z)$

## 2. Main results

In this paper, we shall prove some  $L^p$  inequalities for polynomials with polar derivative. We shall first prove a result that generalizes Theorem 1.9 as well as extends inequality (11) to its integral analogous and there by obtain more results which extended the already proved results to integral analogous. First, we prove the following result, which is the corresponding  $L^p$  extension of Theorem 1.7.

**Theorem 2.1:** If  $P(z) = z^s(a_0 + a_1z + \cdots + a_{n-s}z^{n-s}) \in \mathcal{P}_n$ ,  $0 \leq s \leq n$ , has all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq k$ , and for  $p > 0$

$$\left\{ \int_0^{2\pi} |D_\alpha P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}} \geq n \frac{|\alpha| - k}{1 + k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right) \times \left\{ \int_0^{2\pi} |P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}}. \quad (2.1)$$

The result is sharp and equality holds for  $P(z) = z^s(z + k)^{n-s}$ ,  $s < n$ , with  $|\alpha| \geq k$ . On setting  $s = 0$  in Theorem 2.1 we proved the following result which is infact the generalization of Theorem 1.9.

**Corollary 2.2:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq k$ , and for  $p > 0$

$$\left\{ \int_0^{2\pi} |D_\alpha P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}} \geq n \frac{|\alpha| - k}{1 + k} \left( 1 + \frac{k}{n} \left( \frac{k^n|a_n| - |a_0|}{k^n|a_n| + |a_0|} \right) \right) \times \left\{ \int_0^{2\pi} |P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}}. \quad (2.2)$$

The result is sharp and equality holds for  $P(z) = (z + k)^n$ , with  $|\alpha| \geq k$ .

**Remark 1 :** For  $k = 1$  inequality (2.2) reduces to (1.12) and if we let  $p \rightarrow \infty$  the inequality (15) and inequality (16) reduces to (10) and (11).

The following interesting results are obtained from Theorem 2.1 and Corollary 2.2 by dividing both sides of (15) and (16) by  $|\alpha|$  and letting  $|\alpha| \rightarrow \infty$

**Corollary 2.3:** If  $P(z) = z^s(a_0 + a_1z + \cdots + a_{n-s}z^{n-s}) \in \mathcal{P}_n$ ,  $0 \leq s \leq n$ , has all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , then for  $p > 0$

$$\left\{ \int_0^{2\pi} |P'(z)|^p d\theta \right\}^{\frac{1}{p}} \geq \frac{n}{1 + k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right) \times \left\{ \int_0^{2\pi} |P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}}. \quad (2.3)$$

The result is sharp and equality holds for  $P(z) = z^s(z + k)^{n-s}$ ,  $s < n$ . On setting  $s = 0$  in Corollary 2.3 we prove the following result

**Corollary 2.4:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ , then for  $p > 0$

$$\left\{ \int_0^{2\pi} |P'(z)|^p d\theta \right\}^{\frac{1}{p}} \geq \frac{n}{1+k} \left( 1 + \frac{k}{n} \left( \frac{k^n |a_n| - |a_0|}{k^n |a_n| + |a_0|} \right) \right) \times \left\{ \int_0^{2\pi} |P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}}. \quad (2.4)$$

The result is sharp and equality holds for  $P(z) = (z+k)^n$ . Next, we prove the result which is generalization as well as refinement of the Theorem 1.10 and Theorem 2.1.

**Theorem 2.5:** If  $P(z) = z^s(a_0 + a_1z + \cdots + a_{n-s}z^{n-s}) \in \mathcal{P}_n$ ,  $0 \leq s \leq n$ , has all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq k$ , and for  $p > 0$

$$\left\{ \int_0^{2\pi} \left( |D_\alpha P(e^{i\theta})| - mnt|\alpha| \right)^p d\theta \right\}^{\frac{1}{p}} \geq n \frac{|\alpha| - k}{1+k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - k^{n-s}mt - |a_0|}{k^{n-s}|a_{n-s}| - k^{n-s}mt + |a_0|} \right) \right) \times \left\{ \int_0^{2\pi} \left( |P(e^{i\theta})| - tm \right)^p d\theta \right\}^{\frac{1}{p}}. \quad (2.5)$$

Where  $m = \min_{|z|=k} P(z)$

If we let  $p \rightarrow \infty$  we obtain a result which is refinement of Theorem 1.7. Infact, we prove

**Corollary 2.6:** If  $P(z) = z^s(a_0 + a_1z + \cdots + a_{n-s}z^{n-s}) \in \mathcal{P}_n$ ,  $0 \leq s \leq n$ , has all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , then for  $\alpha \in C$  with  $|\alpha| \geq k$ ,

$$\max_{|z|=1} (|D_\alpha P(z)| - mnt|\alpha|) \geq n \frac{|\alpha| - k}{1+k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - k^{n-s}mt - |a_0|}{k^{n-s}|a_{n-s}| - k^{n-s}mt + |a_0|} \right) \right) \times \max_{|z|=1} (|P(z)| - tm). \quad (2.6)$$

Where  $m = \min_{|z|=k} P(z)$ .

**Remark 2 :** For  $t = 0$  Theorem 2.5 and Corollary 2.7 reduces to Theorem 2.1 and Theorem 1.7.

### 3. Lemmas

For the proof of the following Theorems we need the following lemmas. The first lemma is a special case of a result due to Aziz and Rather [4].

**Lemma 1:** If  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ , then for  $|z| = 1$

$$|Q'(z)| \leq k |P'(z)| \quad (3.1)$$

Where  $Q(z) = z^n \overline{P(1/\bar{z})}$ .

The Second lemma is due N.A. Rather et al [11]

**Lemma 2:** If  $P(z) = z^s(a_0 + a_1z + \cdots + a_{n-s}z^{n-s}) \in \mathcal{P}_n$ ,  $0 \leq s \leq n$ , has all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , then for all  $z$  on  $|z| = 1$  for which  $P(z) \neq 0$

$$\operatorname{Re} \left( \frac{zP'(z)}{P(z)} \right) \geq \frac{n}{1+k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right) \quad (3.2)$$

#### 4. Proof of Main Results

**Proof of Theorem 2.1 :** Let  $Q(z) = z^n \overline{P(1/\bar{z})}$ , then  $P(z) = z^n \overline{Q(1/\bar{z})}$  and it can be easily verified that for  $|z| = 1$ ,

$$|Q'(z)| = |nP(z) - zP'(z)| \quad (4.1)$$

and

$$|P'(z)| = |nQ(z) - zQ'(z)| \quad (4.2)$$

Since  $P(z)$  has all its zeros in  $|z| \leq k$ ,  $k \leq 1$ , it follows by Lemma 1, for  $|z| = 1$

$$\begin{aligned} k|P'(z)| &\geq Q'(z) \\ &= |nP(z) - zP'(z)| \end{aligned} \quad (4.3)$$

Now for every  $\alpha \in C$  with  $|\alpha| \geq k$ ,

$$\begin{aligned} |D_\alpha P(z)| &\geq |\alpha||P'(z)| - |Q'(z)| \\ &\geq |\alpha||P'(z)| - |nP(z) - zP'(z)| \end{aligned}$$

Using (25), we get for  $|z| = 1$

$$|D_\alpha P(z)| \geq (|\alpha| - k)|P'(z)|. \quad (4.4)$$

For any  $p > 0$  and  $0 \leq \theta < 2\pi$ , we have from (26)

$$|D_\alpha P(e^{i\theta})|^p \geq (|\alpha| - k)^p |P'(e^{i\theta})|^p.$$

Which is equivalent to

$$\left\{ \int_0^{2\pi} |D_\alpha P(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}} \geq (|\alpha| - k) \left\{ \int_0^{2\pi} |P'(e^{i\theta})|^p d\theta \right\}^{\frac{1}{p}}.$$

By Lemma 2, for all  $z$  on  $|z| = 1$  for which  $P(z) \neq 0$

$$\operatorname{Re} \left( \frac{zP'(z)}{P(z)} \right) \geq \frac{n}{1+k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right)$$

Which implies for all  $z$  on  $|z| = 1$  for which  $P(z) \neq 0$

$$\left| \frac{zP'(z)}{P(z)} \right| \geq \operatorname{Re} \left( \frac{zP'(z)}{P(z)} \right) \geq \frac{n}{1+k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right)$$

which gives, for all  $z$  on  $|z| = 1$

$$|P'(z)| \geq \operatorname{Re} \left( \frac{zP'(z)}{P(z)} \right) \geq \frac{n}{1+k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right) |P(z)| \quad (4.5)$$

Further, it is evident that inequality (27) follows trivially for those  $z$  on  $|z| = 1$  at which  $P(z) = 0$  as well.

Also from (27), for any  $p > 0$  and  $0 \leq \theta < 2\pi$ , we have

$$\begin{aligned} \left\{ \int_0^{2\pi} |P'(z)|^p d\theta \right\}^{\frac{1}{p}} &\geq \frac{n}{1+k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right) \\ &\quad \times \left\{ \int_0^{2\pi} |P(z)|^p d\theta \right\}^{\frac{1}{p}} \end{aligned} \quad (4.6)$$

Combining (26) and (28), we get

$$\left\{ \int_0^{2\pi} \left| D_\alpha P(e^{i\theta}) \right|^p d\theta \right\}^{\frac{1}{p}} \geq n \frac{|\alpha| - k}{1 + k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - |a_0|}{k^{n-s}|a_{n-s}| + |a_0|} \right) \right) \\ \times \left\{ \int_0^{2\pi} \left| P(e^{i\theta}) \right|^p d\theta \right\}^{\frac{1}{p}}.$$

That completes the proof of Theorem 2.1.  $\square$

**Proof of Theorem 2.5 :** Let  $P \in \mathcal{P}_n$  and  $P(z)$  has all zeros in  $|z| \leq k \leq 1$ . If  $P(z)$  has a zero on  $|z| = k$ , then  $m = \min_{|z|=k} P(z) = 0$  and the result follows from Theorem 2.1 in this case. Henceforth, we suppose that all the zeros of  $P(z)$  lie in  $|z| < k$  so that  $m > 0$ . Since  $m \leq |P(z)|$  for  $|z| = 1$ , therefore if  $\beta$  is any complex number with  $|\beta| \leq 1$ , then for  $|z| = 1$  we have

$$|m\beta z^n| < |P(z)| \quad (4.7)$$

Since all the zeros of  $P(z)$  are  $|z| \leq k \leq 1$ , it follows by Rouché's Theorem all the zeros of  $P(z) - m\beta z^n$  are  $|z| \leq k \leq 1$ . Hence, by Theorem 2.1, we have for  $|\alpha| \geq k$  and for any  $p > 0$ ,

$$\left\{ \int_0^{2\pi} \left| D_\alpha P(e^{i\theta}) - \beta mn\alpha(e^{i(n-1)\theta}) \right|^p d\theta \right\}^{\frac{1}{p}} \geq n \frac{|\alpha| - k}{1 + k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s} - \beta m| - |a_0|}{k^{n-s}|a_{n-s} - \beta m| + |a_0|} \right) \right) \\ \times \left\{ \int_0^{2\pi} \left| P(e^{i\theta}) - \beta m(e^{in\theta}) \right|^p d\theta \right\}^{\frac{1}{p}}. \quad (4.8)$$

Since the function  $\frac{x-|a_0|}{x+|a_0|}$  is non decreasing function of  $x$ , we have

$$\frac{k^{n-s}|a_{n-s} - \beta m| - |a_0|}{k^{n-s}|a_{n-s} - \beta m| + |a_0|} \geq \frac{k^{n-s}|a_{n-s}| - k^{n-s}|\beta|m - |a_0|}{k^{n-s}|a_{n-s}| - k^{n-s}|\beta|m + |a_0|} \quad (4.9)$$

Also by triangles inequality, for  $|z| = 1$ , we have

$$\left| P(z) - \beta m z^n \right| \geq |P(z)| - |\beta|m \quad (4.10)$$

Applying the argument of (31) and (32) to (30) respectively, we have

$$\left\{ \int_0^{2\pi} \left| D_\alpha P(e^{i\theta}) - \beta mn\alpha(e^{i(n-1)\theta}) \right|^p d\theta \right\}^{\frac{1}{p}} \geq n \left( \frac{|\alpha| - k}{1 + k} \right) \\ \times \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s}|a_{n-s}| - k^{n-s}|\beta|m - |a_0|}{k^{n-s}|a_{n-s}| - k^{n-s}|\beta|m + |a_0|} \right) \right) \left\{ \int_0^{2\pi} \left( |P(e^{i\theta})| - |\beta|m \right)^p d\theta \right\}^{\frac{1}{p}}. \quad (4.11)$$

It is a simple consequence of Laguerre Theorem [[9], p.52] on the polar derivative of polynomial that for every  $\alpha$  with  $|\alpha| \geq 1$ , the polynomial

$$D_\alpha(P(z) - \beta m z^n) = D_\alpha P(z) - \beta mn\alpha z^{n-1} \quad (4.12)$$

has all zeros in  $|z| \leq k \leq 1$ . This implies that, for  $|z| \geq 1$

$$|D_\alpha P(z)| \geq \beta mn|\alpha||z|^{n-1} \quad (4.13)$$

Now choosing the argument of  $\beta$  suitably on the left hand side of (33) such that for  $|z| = 1$

$$|D_\alpha P(z) - \beta mn \alpha z^{n-1}| = |D_\alpha P(z)| - |\beta| mn |\alpha| \quad (4.14)$$

which is possible by (35), we get

$$\left\{ \int_0^{2\pi} \left( |D_\alpha P(e^{i\theta})| - |\beta| mn |\alpha| \right)^p d\theta \right\}^{\frac{1}{p}} \geq n \left( \frac{|\alpha| - k}{1 + k} \right) \\ \times \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s} |a_{n-s}| - k^{n-s} |\beta| m - |a_0|}{k^{n-s} |a_{n-s}| - k^{n-s} |\beta| m + |a_0|} \right) \right) \left\{ \int_0^{2\pi} \left( |P(e^{i\theta})| - |\beta| m \right)^p d\theta \right\}^{\frac{1}{p}}. \quad (4.15)$$

Put  $|\beta| = t$  in (36), we get

$$\left\{ \int_0^{2\pi} \left( |D_\alpha P(e^{i\theta}) - mnt|\alpha| \right)^p d\theta \right\}^{\frac{1}{p}} \geq n \frac{|\alpha| - k}{1 + k} \left( 1 + \frac{k}{n} \left( s + \frac{k^{n-s} |a_{n-s}| - k^{n-s} mt - |a_0|}{k^{n-s} |a_{n-s}| - k^{n-s} mt + |a_0|} \right) \right) \\ \times \left\{ \int_0^{2\pi} \left( |P(e^{i\theta})| - tm \right)^p d\theta \right\}^{\frac{1}{p}}. \quad (4.16)$$

Where  $0 \leq t < 1$  and this completes proof of Theorem 2.5.  $\square$

## Conflict of Interest

The authors have no conflict of interest regarding the publication of this article.

## References

- [1] A. Aziz, *Inequalities for the derivative of a polynomial*; Pro. Am. Math. Soc. **89**(2), 259-266 (1983) [1](#)
- [2] A. Aziz, N.A. Rather, *A refinement of a theorem of paul Turán concerning polynomials* ; Math. Ineq. Appl.**1**, 231-238(1998) [1](#)
- [3] A. Aziz, N. A. Rather, *Inequalities for the derivative of a polynomial with restricted zeros* ; Math. Balk.**17**, 15-28(2003) [1](#)
- [4] A.Aziz, ,N.A. Rather, *Some Zygmund type Lq inequalities for polynomials*; J. Math. Anal. Appl. **289**, 1429 (2004) [3](#)
- [5] Barchand Chanam etal.,*Some integral mean inequalities concerning polar derivative of a polynomial* J. Math. Comput. Sci. 11 (2021), No.4, 4032-4041 [1](#)
- [6] S. Bernstein, *Sur e ordre de la meilleure approximation des fonctions continues par des polynomes de degre donne*, Mem. Acad. R. Belg., **4** (1912), 1103. [1](#)
- [7] V. N. Dubinin, *Application of the Schwarz lemma to inequalities for entire functions with constraints on zeros*; J. Math. Sci.**143**, 3069-3076 (2007). [1](#), [1](#), [1](#)
- [8] M.A. Malik, *On the derivative of a polynomial*; j. Lond. Math. Soc. **1**,57-60(1969) [1](#)
- [9] M. Marden, *Geometry of polynomials*, Math. Surveys, No. **3**, Amer. Math. Soc. Providence, RI, 1966. [4](#)
- [10] R. Osserman, *A sharp Schwarz inequality on the boundary*; Pro. Am. Math. Soc. **128**(12), 3513- 3517 (2000) [1](#)
- [11] N.A. Rather, etal. , *Some inequalities for polynomials with restricted zeros* Annali Dell' Univerita' Diferrara (2020) [1](#), [1](#), [1](#), [3](#)
- [12] P. Turán, *Über die Ableitung von Polynomen* Compos. Math. **7** , 89-95(1939) [1](#)